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ACBSE Coaching for Mathematics and Science
SUMMATIVE ASSESSMENT -1, 2014

MATHEMATICS CLASS - IX

http://jsuniltutorial.weebly.com/

Time allowed : 3 hours Marks : 90

= d9r ;

(1)

(i)

(i)

(iv)

(v)

Tt g rfar €

W U T H 34 U €, % IR @uel o1, &, § aun g | e T ¥ @ue-3r # 8 weA ¢ o
YA 1 3k H1 T; WUS-9 H 6 T3 T 90 Uk & 2 3k &; @US-| § 10 77 & 598 5% &
3 3ieh B; A1 @US-T H 10 W37 § 5 Tk o 4 37k B |

WUe-31 H YT T 1 9 8 T Fgfaehcdid U & sal 3Tkl =R faeredl # ¥ T wat fased g1
g

38 T T H &8 off 9aruR foRed @ B, @iferd eTiafie foshed 2 sieRt o Uek WA H, 3 3{ahl &
399 H 37R 4 3feht o 2 Y H feu U | gAw wA W Uk fashew w1 waT |
FeTFeIe T TN dfsid 7|

General Instructions:

(1)
(i)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6 questions of 2
marks each; Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Que-3A / SECTION-A
U9 WEAT 1 ¥ 8 § Uheh W7 1 31 § | Tekeh U9 § 9N faeheq faw ww §, fvd |
U &l T | Uk Wel foehed T 1

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

428 +3J7 MHAAE:

@ ORI CIE @ 3
The value of 4 @ =37 is:
@ ORI © = @ 2

afg IgUE p(x) =22 + 11x + kK FIYAF — 4T AKFI AR

(a) 40 (b) -28 (c) 28 (d) 5
If —41is the zero of the polynomial p(x) = x2 + 11x + k, then value of k is :
(a) 40 (b) -28 (c) 28 (d) 5
T Femt sgue # sAfeshad I B €

@ 0 (b) 1 © 2 (d) 3
Maximum number of zeroes in a cubic polynomial are :

@ 0 (b) 1 © 2 (d) 3

TGUS 22 + 8x + 15T a2 + 3x — 10 H1 VAR PHETE T :

(@) x+3 (b) x+5 (o) x—5 (d) x=3
Common factor in quadratic polynomials x2 + 8x + 15and x2 + 3x — 101is:
(@) x+3 (b) x+5 (o) x—5 (d) x=3

AABCH /A+ /B =105, /B + /C = 120°T /BH U & :

(@) 65° (b) 80° (o) 35° (d) 45°
If in a triangle ABC, ZA+ /B = 105°, ZB + ZC = 120° then ZBis:
(@) 65° (b) 80° (c) 35° (d) 45°

THRIV FHTGETg st ABC § S fh A R TR E H /BRI AT

(a) 45° (b) 60° (c) 30° (d) 90°
A rt. angled isosceles triangle ABC is right angled at A. Then ZBis:
(a) 45° (b) 60° (c) 30° (d) 90°

farg (-2, 5) 59 wqufo 4 fee 8, sw 2

(a) I (b) I () II (d) I\Y
Point (—2, 5) lies in the quadrant :
(a) I (b) I () II (d) I\Y
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1S x# y, A (x, y) # (y, x), AfRT A x =yl

@ @y =Wx b))  xy#(yx)
© @y)=>CFx-y [ @Ey=((Exy
If x# y, then (x, y) # (y, x), But if x= y, then

@ vy = (b) oy #(y )
© (@y)=CFx-y @ ®y=(xy

@ug-a/ SECTION-B
T GEAT 9 | 14 H UAF & 2 37k

Question numbers 9 to 14 carry two marks each.

0.5 T 0.55 % H&3 &) AUREY =AU fafgy )
Find the two irrational numbers between 0.5 and 0.55

U HITST 2 23 + 12 — 2y —1
Factorize : 213 + 12 — 2y —1

Sfad HaHeRT 1 TAM L (103)° 31 HH I AT |
Using suitable identity evaluate (103)’

& ¢ arpfa # 9fg AC=BD dl fig HIfST AB=CD

A B C D
In figure, if AC = BD, then prove that AB = CD
A B C D

d T SThfd W IS AB || CD, ZAPQ=40°Tdd /PRD=118° x, y 1 HH G

HITST |
A P B
40°/y
A 118°
CcQ RD

In figure, if AB||CD, ZAPQ = 40° and ZPRD = 118, find x and v.

10574
LA 118°
CcQ RD

3reraT / OR
St TS STRfd § AB || CD || EF @8l x : y=3: 2 Tl z &1 1 10 SHITSC |
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14.

15.

16.

17.

T TS 1 9RAT 62 cm B T 36 i & YT 24 cm 10 cm B 1 39 1 &%
1 HIfST |

Find the area of a triangle when two sides are 24cm and 10 cm and the perimeter
of the triangle is 62 cm.

@us-d/ SECTION-C
U9 HEAT 15 | 24 § Ueheh o 3 3 ¢
Question numbers 15 to 24 carry three marks each.

1
(729) 6 %1 T F@ FFAY
1
Find the value of (729) ©
31eTaT/ OR

guisy fo6 0.235 1 £ wu & foran St whar € Sifeh p, q U & @9 q # 0
q

P

Show that 0.235 can be expressed in the form <, where p and q are integers and

q#0.

_B5+B
IS a + b /15 = N \/_?h a 9T b 1 IH J1d HifsT |

V5 +43
Find the value of a and b, when a + b /15 =
B

1 9
UAEUE ST : 27 S — -2
P 216 2
1 9 - 1
Fact 27p° — — — = —
actorize 27 p° e o P ty

2

P+t P

>~ =

P

219941/ OR
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18.

19.

20.

21.

22,

AC{BSCE Coacﬁing for Mathematics and Science
a® — b° I UGS I |
Factorize : a° — b°
IS x =2 T x =0 TEUG 243 — 5x2 + px + b Al p T b &1 M A HifoTC |

If x =2and x = 0 are zeroes of the polynomial 2x*> — 5x2 + px + b, then find
the value of pand b

T foier Y@ 3 Wl #1 Fedl €1 39 TR o1 A< THIKR DU o HHGHISR
I TR FHR 2 dl g SIS T Y gHr €1
If the bisectors of a pair of alternate angles formed by a transversal with two

given lines are parallel, prove that the given lines are parallel.
1@t/ OR

fag wifs i aft <1 e weR gfa=d wdt €, 9 Nuifage SHior s 86 €

Prove that if two lines intersect, then the vertically opposite angles are equal.

3 S HRld § AC=BC, «DCA=/ECB @ /DBC=/EAC d fag &Ny

DC=EC
D E
A B B

In the given figure AC= BC, £ DCA = ZECBand « DBC= Z EAC

Prove that DC = EC
D E

A C B

Ifc Tk S % 2 101 9 37 6 o= w1 I SO S o <1 FI0 a1 3R o 5
I o THM &, dl SHI A FaiTad 8 € |

Prove that “Two triangles are congruent if two angles and the included side of
one triangle are equal to two angles and the included side of other triangle”.

1S ABC # fog B @21 C ¥ o1 AC 91 AB R @9 T &« BE 1 CF § a9

BE=CF I, fag ®ifST f& (i) AABE = AACF @1 (ii) AB=AC
A
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24.

25.

ﬂblycom b r _ _
‘-._____ - -~ _
\__/ R \_;7 - p__8 S el |
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ABC is triangle in which altitudes BE and CF are equal. Then show that :
(i) AABE = AACF and (ii) AB= AC
A

B C

<t T2 Mpfa H PQ TATRS T TUV € Sl foh Teh TR & GHIRR €1 Teh 319 T AB,
YU PQ ¥ fog B W oYl ¥ 3R wrafda fror e BC R &g < gU9f RS ¥ C W

TN & T G WA 81 H CD % ST 99 R A &1 95 FIMTAB || CD B |
P B Q

R C B
In figure PQ and RS are two mirrors placed parallel to each other. An incident

ray AB strikes the mirror PQ at B, the reflected ray moves along the path BC and

strikes the mirror RS at C and again reflects back along CD. Prove that AB||CD.
P B Q

R C 5

Teh W T i SATHTG T T TTTR! TR e 25 m @110 m T STEHWR Yy
14m T 13 m §1 39 T T A% 1 HIfoTT |

A field is in the shape of a trapezium whose parallel sides are 25 m and 10 m,
The non - parallel sides are 14 m and 13 m. Find the area of the field.

@us-g/ SECTION-D
U9 HEAT 25 W 34 § Uk o 4 31k &

Question numbers 25 to 34 carry four marks each.

?TFCZ \/_+1 —\/5_1 ?ﬁx2+y2+xyﬂﬂﬂ§l'lﬁ5ﬁ||:_rlﬂl

<

CB-17 B+l
Ifx = \/§+1, y = V3 -1 , then find the value of x2 + 2 + xy.
B -1 V3 +1

94T/ OR
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26.

27.

28.

29.

30.

31.

32.

vﬂhrycom b i _
- I — =5 .
— \.___/\..__ B - T g I __ W W _§ W ____|

A CPBSE Coaching for Mathematics and Science
A x =3 242, A x° — - 1 T T T

x3

Ifx=3—2\/§,findx3—i3
x
1 1 1 1
g WIS
J_+«/_ Frvo o+ Tk BB
Prove that : + 1 + L + 1 + 1 =1

JZ+«/§ B+vo  Jo+V7  7+\B B+

TS Y ok UAEUE FIfST: (a + b + ¢)° — (a — b — ¢) >+ 4b° — 4¢°
Simplify and factorise (a + b + ¢)> — (a — b — ¢)*+ 4b° — 4¢”

IfCa+b+c=6TqAMab+bc+ca=11da’+b’+c—3abc

Ifa+b+ c=6andab + bc + ca = 11, find the value of a°> + b® + ¢ — 3abc

TGUS bx® + 32> —3 TAA 2x° —5x +b Fl x—4 T 9N A W IR, TA R, 371 §1 afg
2R, — R, =0T b &1 AH FA shITaIT |

The polynomial bx® + 3x> — 3 and 2x’ — 5x + b when divided by x — 4 leave
the remainders R; and R respectively. Find the value of b if 2R; — R> = 0

fog A(=2, —2), B(6, 0) C(0, 4) A4 D (—3, 2) &l UH T @A wHIf9T | ABCD
aTeRfa wifaw qen fafee fo, fag A Ten D form wqafer # 22

Plot the points A(—2, —2), B(6, 0), C(0, 4) and D (-3, 2) on the graph paper.
Draw figure ABCD and write in which quadrant A and D lie.

afe we foefer @ S 9= WEredl & & < f9g Sifee f o= S o sfgaSs
Teh 3779 o1 © |

If two parallel lines are intersected by a transversal , then prove that bisectors of
the interior angles from a rectangle.

AABC & gAfgarg s & i §# AB=AC | S BA &I D T 9 YR SR T

fFBA=AD ?| fag SIS o /BCD T GHaIUI & |
D
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AABC is an isosceles triangle in which AB = AC. Side BA is produced to D such
that BA = AD. Show that ZBCD is a right angle.

D

A
B c

3teraT/ OR

& T 3Tfd § AC=AE, AB=AD 91 /BAD = Z/EAC | f&g ISt BC=DE

A " B
In the given figure AC=AE, AB=AD and £ BAD = £ EAC Show that
BC = DE

A " B

33. AABC ® BC Yo W <1 fog D 99T E 39 ¥R & f& BD=EC a1 AD=AE| fag

SISy AB=AC
A
B D E C
In AABC points D and E are on BC such that BD = EC and AD = AE, Prove that
AB = AC
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34.

B D E C

fag FifSe for wh Brge & @41 sitd ot o1 2, A el & A 9@ % #
Show that the sum of the three altitudes of a triangle is less than the sum of the
three sides of a triangle.

" 3SUNIL TUTORIAL
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